
FITTING INSTRUCTIONS

Part Number - DA4027
Defender Dog Guard

Disclaimer
These fitting instructions are intended for general guidance only. No responsibility will 
be accepted for damage to persons, property, equipment or vehicles caused during 
or arising from the fitting or using of this product. Fitting this item to your vehicle may 
constitute a vehicle modification and therefore we strongly recommend that you check 
the product complies with local laws and legislation and always inform the vehicle's 
insurance company accordingly.

Britpart 
The Grove, Craven Arms, 
Shropshire, SY7 8DA United Kingdom 
www.britpart.com VR. 2

Kit contents -  
1 x Dog guard 
2 x Mounting feet 
2 x Stiffening plates 
4 x M8 set screws 
4 x M8 nuts 
8 x M8 flat washers 
4 x M8 spring washers 
2 x M8 thumbscrews 
1 x Top bracket 
2 x 10 x screws - discard on pre-1989 models 

> Attach mounting feet to dog guard using   
 thumbscrews.

> Tilt front seat and slide forward.

> Pass assembled dog guard into vehicle with   
 mountings anchored forward and resting on top  
 of bulkhead.

> Centralise dog guard in vehicle and mark rivet  
 heads (visible through slots in feet).

> Remove dog guard and drill out rivets using M9  
 (11/32”) drill. 

> Attach top bracket onto locating tab on top edge  
 of dog guard (with angled face rearwards).

> Refit dog guard and mount in position using   
 fixings supplied (see illustration) and tighten all  
 bolts.

> Lift top bracket until contact with headlining is   
 made and mark 2 holes.

> Drill through headlining and roof channel using 
 4.0mm drill TAKING CARE NOT TO DRILL   
 THROUGH THE ROOF.

> Fasten top bracket into position using self tapping  
 screws.

Note - If alarm sensor fitted, locate aperture behind 
headlining approx 70mm up and 130mm forward of 
present position. Relocate sensor and cover original 
aperture.

Bulkhead


